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12. Sinif (B)
Ingilizce

Dil Bilgisi - 6

1 -12. sorularda ciimlede bos birakilan yerlere uygun
gelen sézcuk veya ifadeyi isaretleyiniz.

1.

Layla’s father hasn’t seen his daughter - - - - the last
tsunami in Endonesia.

A) already
B) since
C) still

D) yet

E) for

2. We have - - - - had breakfast. | don’t want to eat anything

now.
A) just
B) yet
C) still
D) since

E) so far

3. You are so tired and want to have good rest at home.

Unfortunately, your upstairs neighbour starts to lis-
ten to loudly. As the sound of the music is too high
for you, you can’t sleep. At last, you knock the neigh-
bour’s door and warn him politely: - - - -.

A) Turn down the music or | will call the police.
B) I like the music you listen to. Can you turn it up?

C) What do you think you are doing? | will beat you right
now.

D) Excuse me! | need to have a rest. Can you turn down
the music?

E) What is your purpose man? You are not the only person
in this apartment.
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4.

- - - -, but | think he must be about seventy.

A) George may be heavier than you, but don’t forget that
he is also taller

B) I will phone the tour company and ask the price of the
trip to India

C) She weighed himself and was horrified to see she is
eighty kilos

D) | don’'t know exactly how old Timothy’s father is

E) | don’t remember how much it cost

The cost of living in some parts of Canada is extremely
high, - - - -

A) as the price of petrol there is unexpectedly low
B) for the reason that only about 500,000 people live there

C) unless you really enjoy extremely cold weather and
snow

D) whereas Eskimos live in ice houses called igloos

E) because nearly everything has to be imported

In Australia, summer starts at the beginning of
December, - - - -.

A) while in Europe, the season begins in the middle of
June

B) when vast stretches of land were frequently covered
in snow

C) the city is still suffering from a shortage of water this
summer

D) though the modern twelve-month calendar is of little
use to them

E) but they’re going to change this system so as to be
like the rest of the world

http://odsgm.meb.gov.tr/kurslar/



« BiTi
OF M,

)

16 12. Sinif (B)

Ingilizce

Dil Bilgisi - 6

7. Heat is transferred from - - - - object - - - - by conduction,
convection and radiation.

A) some / through others
B) each / from the rest
C) any / with another

D) either / to others

E) one / to another

8. The authors of this article seem to suppose that
nuclear plants accord with safety requirements - - - -
the fact that violations are constantly being reported.

A) nevertheless
B) although

C) despite

D) in case

E) against

9. Photosynthesis is the process - - - - green plants
produce carbohydrates, using the energy of sunlight.

A) whose
B) by which
C) on which
D) in them

E) where
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12.

. The report tells the story of how China became an
economic power - - - - a scale unfamiliar - - - - history.

A) through / at
B) with / from
C) for / with
D) at/ by

E) on/in

. Ifl----Charlotte last weekend, | - - - - her to bring my

book today.

A) met/ would remind

B) must have met / had reminded

C) had met / would have reminded
D) were to meet / would be reminded

E) was meeting / could have reminded

No books - - - - from this library unless you - - - - the
members’ card.

A) can be borrowed / have
B) are borrowing / will have
C) might borrow / have had
D) must be borrowing / are having

E) should be borrowed / don’t have

Cevap anahtarina ulagsmak igin karekodu okutunuz.
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